T3 RIS BOSIEENE IUCORDLR S

(5F 345 Hop~a 443 AH%7)

= Ik 4 ERYR
e AT ES (1 A)

1. I A (BAZ - )
TE H & F fii =
1. 1 &2 AT & 125,000 | @25,000/ x5 H (11H—6H) X 1A
2. M I A 0
(& &b 125, 000

X ST RO TR BT AR T BT 2 & —REIE L, A0 3 AR5y OSSR E 5 K O RIS LTz,

2. X M
IH H & FH fii =
1. FRAMIEE 0
e & 25,220 | 25,220/ (& F—=5kkED
11A2H8 (1 AN)
MGmawR et (X 740)
3. Jh W & 148,060 | g HIRI, HTETIARE
4. )~ WE & 0
5. G - BRIGIEENH 0
6. = ik #H 0
7. BRHERE 2,807 | FHH MR
8. BEHEAZR 0
9. N 1 # 0
10. = % or & 22,000 | # 7 L v NEEFIHAEE
(& & 198, 087

3. ke (A —3KH)

AT3,087 ] (REFEIZHOWTIEHOEAICTHH)




